D36 A XS

Ey iR (AN)
- TR | EoK | TRk | T=ER | =
— BE | wn | 28 | og | 28 | @8 | o8 | 2o
HERX 5 TE =8 | =% | & 2B | A 2B s
A zy | B8 | BY | BR | A
REZEREE 524
(=75) fapE 331 224 178 149 82 65 46
LI TREE 24 16 13 12 6
1R 2 ER 3LIEE 2 2 2 2 0
I B ET4 9 8 7 7 2
RBEHGG SHTEE 99 95 35 29 10
B E B EF4 6 5 3
kB K AT R T4 o 52 o
(E5) SHEE 156 124 31 28 11 11 3
kB SKCAT HA tH A R o
(tK (B2 EEERD,))| =102 2 ‘ ‘ ‘ 0
R BN At A R " _ _
(=) T4 1 1 0
X T ) a— .
() T4 2 2 0
X T ) a—y . B B
(Fe i) =T4H 0
%_;kgit%ﬁ Ic-k_~ Sl —
12 ‘ - thhitEs BR|E_R| gu
ey I\ = EFJA Xgﬁ ni\:gﬁ uitn%ﬁ .
HERX 7 %iE iy =g ZE & ZER =4
A sgamZTREH| zy | wm | TR
HBFEEA 104
(KEAzxFapE) fagE 63 46 35 33 27 25 9
JHBFEEB 104
(KEAzxFafE) fagE 85 63 42 42 28 28 12
HFFEEC -
(R EIRE (W E)) | o 10 4 3 2 2 2 2 ‘
SHFFEED e
(KZHEE (ig-mE) | =18 4 3 3 3 3 3 0




